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; 100kN/m#%#BZ25| 1.00| 000 ~ 0.09| 10130 |3mZEBZB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1240 ~ 1275 101.50 |3m&EBZ5 -~ — — —
Zh st 1.00) 009 ~ 787 100.00 | EhLs |0oo ~ 787|194 9.82 Fhst 1.00 | 5.00 ~ 1240 100.00 | TnLSY | 5,00 ~ 1275| 1.94 9.82
2 100kN/mM%#8Z5 | 1.00 | 0.00 ~ 0.01 100.08 |3mZEBAD| — ~ — — — | 100kN/mi%E 25 | 1.00 | 1265 ~ 1265 100.08 |3m&EBZ5 -~ — — —
Zhst 1.00 001 ~ 7.79 100.00 | #ns | 000 ~ 7.79| 1.93 9.77 Fhs 1.00 | 5.00 ~ 1263 100.00 | TN | 5,00 ~ 1265| 1.93 9.77
3 100kN/m#%#BZ5| 1.00 | 000 ~ 1.37| 120.72 |3mZEBZB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1268 ~ 21.89| 120.72 |3m&EBZ5 - ~ — — —
ZzhnLst 1.00 | 1.37 ~ 9.15 100.00 | =N | 000 ~ 9.15| 2.39 12.09 ZzhnLst 1.00 | 5.00 ~ 1268 100.00 | #nst | .00 ~ 21.89| 2.39 12.09
4 100kN/m#%#BZ25| 1.00| 000 ~ 1.95| 130.08 |3mZEBzB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.16 ~ 21.15| 130.08 |3m&EBZ5 -~ — — —
Zh st 1.00| 195 ~ 9.73 100.00 | Fhilst | 000 ~ 973|251 1271 Fhs 1.00|5.00 ~ 1116 100.00 | TN | 5,00 ~ 2115|2.51 1271
5 100kN/mM%#8Z 5| 1.00 | 0.00 ~ 1.74 126.63 |3mEBADl — ~ — — — | 100kN/m%# 25 | 1.00 | 11.26 ~ 19.74| 126.63 |3m&EBZ5 -~ — — —
Zh st 100|174 ~ 952 100.00 | #ns | 000 ~ 952|219 11.09 Fhs 1.00|5.00 ~ 1126 100.00 | TN | 5,00 ~ 1974 2.19 11.09
6 100kN/mM&E#BZ 5| 1.00 | 0.00 ~ 1.39 121.05 |3m&xEZH| — ~ — — — | 100kN/mi%# 25 | 1.00 | 1210 ~ 1990 121.05 |3m&EBZ5 - ~ — — —
ZzhnLst 1.00 | 139 ~ 917 100.00 | =0 | 000 ~ 917|213 10.76 Zh st 1.00 | 5.00 ~ 1210 100.00 | #nst | 6,00 ~ 1990|213 10.76
. 100kN/m#%#BZ25| 1.00| 000 ~ 213| 13296 |3mZEBzE| — ~ — — — | 100kN/mi% 25 | 1.00 | 10.74 ~ 2032 132.96 |3m&EBZ5 -~ — — —
zh st 100|213 ~ 9.91 100.00 | Fhilst | 000 ~ 991|259 1310 zhst 1.00 | 5.00 ~ 10.74 100.00 | =hs | 5,00 ~ 20.32| 2.59 13.10
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




